Numeracy Skills Assessment – Pages 61-62 – Answer Key 
1. Susan spent 3 hours in class on Monday. She spent 4 hours in class on Tuesday. She spent 6 hours in class on Thursday. How many hours did she spend in class altogether? 
3 + 4 + 6 = 13
2. David had a fever and a cold. His temperature in the morning was 104 degrees. His temperature at night was 99 degrees. What was the decrease in David’s temperature?
104 – 99 = 5
3. The Community Learning Center had a 15-day sign up period. Each day, 25 students signed up for classes. How many students signed up in all? 
15 x 25 = 375
4. Jim Simmons makes $7,680 a year at his part-time job. He gets paid by the month. How much does he make each month? 
$7,680 ÷ 12 = $640
5. There are 865 students at the elementary school. There are 502 female students. How many students are male? 

865 – 502 = 363

6. Maria earned $22,984 last year. She spent $19,487 on taxes, rent, food, and other things. She saved the rest of the money. How much did she save? 

$22,984 - $19,487 = $3,497

7. Doug pays $61 every month for health insurance. How much does he pay in a year? 

$61 x 12 = $732

8. On Saturday, Pam had to do her week’s shopping. She spent $58.87 at the grocery store, $13.62 at the hardware store, $7.52 at the drugstore, $18.35 at the department store, and $48.44 at the shoe store. How much did she spend altogether? 

$58.87 + $13.62 + $7.52 + $18.35 + $48.44 = $146.80

9. Alex jogs 6 kilometers an hour. He jogged 36 kilometers last week. How many hours did he jog?

36 ÷ 6 = 6

10. Tammy’s soccer team played 6 games. They made 4 goals in each game. How many goals did they score altogether? 
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